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Note: 1) All questions carry equal marks and are compulsory.
2) Figures to the right indicate maximum marks for a question.

QL. (A) Attempt any o
(True/False)

sub-

questions from (a), (b),(c) in MS-EXCEL (2)

'/Aw+.\o\\€ijgwwmﬂaw' %QPP)VCMA%EV\“

QP Code : 13915

[Total Marks: 75]

(@)  Wecandeleteall the worksheets ina workbook, , &
(b)  Inthe FV() function, the interest rate is assumed to be constant. _ <<§9
| S

() When data is sorted some rows may be hidden.

(B) Attempt any two
(Multiple Choice)

(d) A Database contains one or more

sub-

questions from (d),

()(DinMySQL @ QO

1) Tables. 2) Databases. ;
3) Columns, 4) Rows. ,sz‘
(e)  Toview the names of databases the statement s RO S %

1) show tables

3) view databases

. 2) show database N

4) show databases

(0 Tonotsave the transaction we use y oo
ncat 3) Rollback _<-4) Return

1) Commit

2)LCo

R\

©) Attemptany siy sub-quéstions from (g), (h),(i xé?(k),(l),(m).(n).(o) (6)
in Data Communica;tions, Networking and 1 t '
(8) A metropolitan area network can connect se™dral LANs.

(h)  Peerto Peer networks are designed for
() In aclient-server architecture all co
) Data Communication can take plac

(k)  Fibre optic cables are ch eaper t}@ axial
WY

() ABlog is a digital diary.

(m) IP addresses are easier to r
(n) A meta search engine cre.’t@;
(0) * POPand SMTP are the

Cj\z\

* email,

. (D) Attempt any fv:

sub-

questions from (p),
ns, Networking and

in Data Com r«blcatio
(r) layer%é used in OSI model.

D5 Q>

-

: gb Of the following ___{
X DHTE

Q{D ()  TCP stands for Transmission

; 1) Password

e

\,H, -Con. 2731.15,
A 5 |
3

1
A ASIC IR IR ASAN | ”] AlLTLINDUAAL T T O

2)9

: 3)6

2) Bridge

2) Ri

. (True/False).

14(0 than 100 users.

ers are equal.
.throtigh wired media.

cables.

uer as compared to Démain.names.
> 1ts own database of information.
\Qrprotocols used for sending and receivirig

{?.

@O OMM MW . (S)
lntlernet. (Multiple Choice)

4)7

@ > isthe céntral'd_evice used in star ropolo@.
' 1 er 3) Hub - 4) Modem

i (r) ?é\ topology all the nodes are connected to a single cable,
: $ ) Bus 5

ng 3) Star ‘ 4) None of these

snota protoco).

2)IP 3) FTP 4) Sl
——_ Protocol.

2) Control  3) Combine , 4) Permit

[TURN OVER
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- 2 -r
' task of layer in
mentation and re-assembly is the
u Message s€8 —
; e 2) Session 3) Network ) ” )c;
1) Transport . o
etween comp called

; tab ;
el for xganng S

W
1) Topology
The full form of URL i§ 2) United Resource Locator :

o

(w) 1) Uniform Resource Library # Uniform Resource Locator
r n
3) Universal Resource Locato : \§’</(y
A ranJ’oz;e sub-question from (a), (b) in Data Communications, (g) (_;Q
nswe

2. (A
: @ Networking and Internet. y | Q%
(a)  Write a note on LAN and MAN. qv

(b)  Explain Star and Bus topology. " \2:?\

B Answer anyone sub-question from (c), (d) in Data B
Communications, Networking and Internet.. @

(¢)  Explain the different uses of internet. S
(d)  Explain Search Engine and Meta Search Engine. Q_& ‘

Answer anyoné sub-question from (a), (b) in @

(@)  Write MySQL statenient 16 create a table calle OSIT having~

the columns Deposit Number(DN, integer, ary key), Deposit
{d¥h 10 columns), Amount

Code(DCODE; character withvariable w .
(AMT, width of 8 including 2 décimals ésitive) and Date of
%“e pty).

Q. & (8)

Registration (DRT, date, should'net
AYeble called MARGIN having

» integer, distinct),

(b)  Write MySQL statement to creat

the columns Account Number
Account holders Name( ANAMR, chararterwith variable width 15

columns), Gender( GEN, BQ{Q an), Margin Amount (MARG, very large
" integer, should not be%@p y) and Date of account(.DAGC, Date).

(B) Answer any one \Z;uestion from (¢), (d) in MySQL (7)
(©)  Explain the foﬂcq_ing built-in functions jn MySQL.
DMOD) 2)RTRIM() 3) LOWER() 4) TIME()

5) REVE&&S 6) SQRT() 7) DAYNAME()

d . ;‘he%?\?xists a table called COLLEGE having the following columns
§ uml?sr(RN, integer), Students Name (STNAME character
edfn ;S)ugh;hDii)e cho/lxt:jmr;s),' Fees paid (FEE, width c;f 6 with 2
- !
Q ! Following ssion(DA, date), Write MySQL statem ents
% 1) Add a new colump Confirmat;
L / lon (Co, Boolean i
CSZ\ l1:) %ha;nge the studentg hame to ‘Deepa Gupta’ fo;)- ftzo zthls rable.
A\ i) Delete al] the rOWSs from the table wh . umber 57
' ere fees paid are Negative,

iv) Change the date of admjgg;

A sslon of
Qg} Monaz Mehtg’ to June 10, o the student whose name js
2

I-Con. 2731.15,
' [TURN OVER
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V) Insert one row of data in the table with Roll Number 715,

Students Name ‘Hiral Jain' and Date of Admission July 23, 2015.
vi) Change the name of the column Roll Number to RNO.
vii) Rename the table COLLEGE as MARK.

Q4. (A) Answer any one sub-question from (a), (b) in MySQL
(@ There exists a table ELECTRIC having the columns Consumer

number (CNO, integer), Consumer name (CONA, character), meter

number (MNO, character), type of connection (TYPE, character) and

bill amount (BILL, Integer).

Write MySQL queries for the following,
i) Display Consumer name, meter number and bill amount where the
bill amount is equal to or above the average bill amount.

i) Display the Consumer number, type of connection and bill amount

where the bill amount is equal to the highest bill amount. V&
iii)Display Type of connection, maximum bill amount and total bill QZ\

amount of such connections

grouped according to Type.

(8)

iv)Display consumer number, meter number and bill amount w@
the consumer number is odd.

Vv)Display all therows in the ascending order of bill amoun

\§

(b)  There exists a table TRAVEL ¢
(CNUM, integer), customer

destination (DEST, character).

containing the columns customer number (
quoted (QUQTE, integer)and date of travel

Write MySQL queries for the following,
) Display Customer number, custome
those having holiday destination ‘D),
i) Display Customer number, holi
travel for those customers w

2015 using both the tables.
iif) Display Customer numb
DETAILS for those Céru

A\

; =
ontaining columns cuggomer number

name (CNAME, ¢ ter), holiday
There exists an -table DETAILS

, Date).

lﬁécae and amount

I using both the

N

, integer), amount

quoted for
tables.

estination and date of
I'Q/e ate of travel is after October 15,

d amount quotedfrom the table
ers where the amount'quoted is equal

oted. '

to the highest amo
iv) Display Customeaé?ﬁber, amount quoted and date of travel from
the table DETA@ or those who want to travel in the month of

May.
v) Display all \ﬁ&ws from th
destinati ntains ‘M’,
NS

e table TRAVEL where the holiday

Q4. (B) . Anxer anyone sub-question from (€), (d) in MySQL

(7)
() € exists a table OFFICE containing columns employee number
EN, Integer), name of the employee (NAME, character), department
Q name (DEPT, Character), provident fund amount (PF, numeric) and
% date of deduction (DEDDT, date). Write MySQL queries for the
\2\ following.
A{D i) Display the department name, average of provident fund amount
and minimum of the provident fund amount grouped as per
q}‘ . -department,
>3
\,\:ﬁ-n-con. 2731-15,
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(d)

Q5. (A)
C)

N

- The following data has been e&& in a worksheat.
R G DR [ E e s e

3

My -

aximuin provident fund amouny

me, M d as per
ment na mount groupe
partm® ¢ funda
roviden

depa
Y Dis lay the
if) andpwtal oftthe per, name of the employee and
s er, h . )
)%‘?533;" the enploy a nur ere the provident fund amount is ahoyq
" damo unt. .
vident fun t fund amo love .
fhr:average prov::ise?rom this table where the employee numbey j5
1l the ro
iv) Display @
¢ divisible by 5.
ES with columns for employee iq 1
(.

PLOYE i
There exists @ table E}Dgyee name (EMP_NAME, character), job, i
(EMP_ID, integer): il ager id (MGRID, integer), salary (spy,

> ), man date). Write MySQL queries for the

ID, characte ), B
IE{IOIE;I'I'C), and hire date (H.DAT \l§\
-following. e

m this ta
o loyees who do not have%\\z\?\

i) Display all the o and hire date of allemp

{f) Display the nam

manager. | i,
. oyee ‘
1 Dlsgaylgh;e?:!r;syMonthly Salary’ from the table.
- job id and salary of employ hose

iv) Display the employee id,

me labeled as ‘Name of the Emp]%g?and

er id is 505 or 509 : '
magag loyee' name and QQ_IYF}' of employees

‘ id, emp
v) Display the employee 14,
: whase the salary is 25,000 or more. )
¥rhire date.

vi) Display all.the rows in the descending ord
vii) Display all thé rows where the second [T in the employee

name is ‘H". NG, :

ggg (a), (b) in MS-EXCEL

Answer anyone sub-question

HRA | DA TOTAL

l)vrite th%@ps to obtain
)H 9 '
5% of the Basic or 10,000 whichever {g less in column C

1) DRra's 110% of the Bas;
e Basic
\gcg:mn B rounded to the Nearest integer in

XD TOTAL a BASIC+D
A+HRA In co|
) TAX a5 33.3% of ToTAL iy colur:: s -
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(b)  Answer the following using MS-EXCEL
Given the worksheet.

| A 8 - c .
y |Item Name January (February C'g“
2 [Moue 6000 7300 é<
3 |Mouitor 50000 |45000 &,

4 |Keyboard 6100 . [6300 %@
5 _|Printer 65000 {80000 O

6 [PenDrive 3250 (3100 ¥
7 {Total : CJ
8 _|Average _ QQ—

_9 |Highest g
10 [Lowest \Z\‘T '

Write the steps to obtain the Total, Average, Highest and Lowest fi N

the month of January and for the month of February in columnsé\d

C respectively. @

Q5. (B) Answerdnyone sub-question from (c), (d) in MS-EXC \& (7)

and its estimated life in years is entered in cell A7 a as no

() Inthefollowing worksheet the cost of machinery is :g;h dincell A4
salva

e value.

= i S
+1 Depreciation \Y~
< 1 0

i3 2 Al 7

147 500000 | 3 R

i 4 .

B 3 gr

7] 5 Y,

18! ot

Write the steps to obtai \year wise depreciation and WDV in
columnsCand D wh&@epreclatﬁon is computed using reducing
balance method, CJ '

(d)  Explain the foU@mg built in functions in MS-EXCEL
LPMTQ & 2.ROUNDQ)  3.FVQ 4, COUNT()

5. qsa)%?co 6. NPER() 7.INT()

N
Q@II-Con. 2731-15.
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